V4[] WAL-RICH CORPORATION . SPECIFICATION PAGE

Job Name:

mvﬂ D E Job Location:
WAL- Rlc H Engineer: |
CORPORATION | pprovar

Premium Tank-to-Bowl Kits

Kit Includes:
» Gasket (1)

Sponge Rubber

* 1/4” x 3” Bolts (2) - 1359002
* 1/4” Wing Nuts (2) ggggg:

* 1/4” Hex Nuts (2) T
* 1/4” Brass Washers (4)
* 1/4” Rubber Washers (4)

Recessed Sponge
1359004
1359006

7

Recessed

OD 1

Material Specifications D

Part Material
_ Hard Rubber
Gasket Rubber 1359000
Bolts Brass 1359007
Wing Nuts Brass T 1359010
Hex Nuts Brass
Washer (Metal) Brass
Washer Rubber oD
Gasket Type Gasket Dimensions
ID
1359500 Universal Sponge Rubber 3-5/16” 2-3/8” 3/4” .270 Ibs.
1359502 Gerber Sponge Rubber 3-1/4” 2-1/8” 1-3/16” .330 Ibs.
1359504 American Standard Recessed Sponge 3-1/2” 2-1/8” 1-3/16” .360 Ibs.
1359508 Mansfield Hard Rubber 4-3/16” 2-3/8” 3/4” 485 Ibs.
1359510 Kohler Hard Rubber 4-3/16” 2-3/8” 3/4” 485 Ibs.

CALL (800) 221-1157 . www.wal-rich.com . FAX (516) 277-2177




